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QUESTION 1

Which statement is true about a VMware Cloud on AWS software-defined data center (SDDC)? 

A. It is a VMware environment integrating VMware vCenter Server, VMware vSAN and, optionally, VMware NSX-T that
runs on an AWS Elastic Compute Cloud (EC2) bare-metal infrastructure and is able to consume native AWS services. 

B. It is a VMware environment integrating VMware vCenter Server, VMware vSAN and VMware NSX-T that runs nested
VMware ESXi on AWS Elastic Compute Cloud (EC2) instances and is able to consume native AWS services. 

C. It is a VMware environment integrating VMware vCenter Server, VMware vSAN and VMware NSX-T that runs
VMware ESXi on an AWS Elastic Compute Cloud (EC2) bare-metal infrastructure and is able to consume native AWS
services. 

D. It is a VMware environment with VMware vCenter Server, VMware vSAN and VMware NSX-T managing native AWS
Elastic Compute Cloud (EC2) instances and able to consume native AWS services. 

Correct Answer: B 

 

QUESTION 2

An administrator runs an analysis on all workloads using Live Optics and confirms there are a variety of applications,
including Microsoft SQL server and Oracle databases. The Microsoft SQL workloads are averaging 4,000 IOPS per
virtual machine, approximately 50% writes. The Oracle workloads are averaging 3,000 IOPS per virtual machine, and
approximately 80% writes. Which method should be used to input the data into the VMware Cloud on AWS Sizer for the
most accurate results? 

A. Use the Advanced Sizer in \\'database\\' mode. Create workload profiles for the analyzed virtual machines, including
profiles for Microsoft SQL and Oracle. Set the values for vCPU, vRAM, utilized storage, IOPS and I/O profile manually. 

B. Use the Quick Sizer. Set the values for vCPU, vRAM, utilized storage, IOPS and I/O profile manually. 

C. Use the Advanced Sizer in \\'import\\' mode. Import the Live Optics data and let the Advanced Sizer set the values for
vCPU, vRAM, utilized storage, IOPS and I/O automatically. 

D. Use the Advanced Sizer in \\'manual\\' mode. Create workload profiles for the analyzed virtual machines, including
profiles for Microsoft SQL and Oracle. Use the default values for the SQL and Oracle workload profiles. 

Correct Answer: D 

 

QUESTION 3

Which two accounts are mandatory prerequisites for the successful deployment of a VMware Cloud on AWS solution?
(Choose two.) 

A. A VMware vCenter Server account 

B. An AWS account 

C. A VMware Cloud account 
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D. An Amazon Elastic Compute Cloud (EC2) account 

E. A VMware Cloud on AWS account 

Correct Answer: AE 

 

QUESTION 4

Which API endpoint serves as the authentication point for VMware Cloud on AWS? 

A. Cloud Services Platform API 

B. NSX-T Data Center API 

C. Deployed SDDC API 

D. VMware Cloud on AWS API 

Correct Answer: A 

 

QUESTION 5

A customer wants to ensure that VMware Cloud on AWS maintenance operations are performed during their
maintenance window. Which option would allow the customer to achieve this outcome? 

A. Schedule a maintenance preference in the software-defined data center (SDDC) console. 

B. Schedule a call with VMware Cloud on AWS Support and schedule a maintenance window. 

C. Schedule a call with AWS Support and schedule a maintenance window. 

D. Schedule a maintenance window through an online support request. 

Correct Answer: A 
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